CTS Placement Paper January, 2010 (Analytical)
ANALYTICAL Section : (25 Q's - 30 mins)

Directions for Questions 1-5: There are five friends Sachin, Kunal, Mohit, Anuj and Rohan. Sachin ia shorter than Kunal but taller than Rohan. Mohit is tallest. Anuj is a little shorter than Kunal an little taller than Sachin.

1.Who is the shortest?
(a) Rohan (b) Sachin (c) Anuj
(d) Kunal (e) None of these
Ans: A

2. If they stand in the order of their heights, who will be in the middle?
(a) Kunal (b) Rohan (c) Sachin
(d) Anuj (e) None of these
Ans: D

3. If they stand in the order of increasing heights, who will be the second?
(a) Anuj (b) Sachin (c) Rohan
(d) Kunal (e) None of these
Ans: B

4. Who is the second tallest?
(a) Sachin (b) Kunal (c) Anuj
(d) Rohan (e) None of these
Ans: B

5. Who is taller than Anuj but shorter than Mohit?
(a) Kunal (b) Rohan (c) Sachin
(d) Date Inadequate (e) None
Ans: A

6. A group of friends goes for dinner and gets bill of Rs 2400 . Two of them says that they have forgotten their purse so remaining make an extra contribution of Rs 100 to pay up the bill. Tell the no. of person in that group.  
Ans - 8 person

7. Given the following functions
(1) f (n a b c ) = ac if n=1
(2) f (n a b c) = f ( n-1 a c b) + f ( 1 a b c) + f ( n-1 b a c ) if n > 1
Then what is the value f ( 2 a b c ) = ?
Ans: f ( 2 a c b ) = ab + ac + bc.

8. There are 600 tennis players 4% wear wrist band on one wrist Of the remaining, 25% wear wrist bands on both hands How many players don't wear a wrist band?
Ans. 432

9. Three types of tea the a,b,c costs Rs. 95/kg,100/kg and70/kg respectively. How many kgs of each should be  blended to produce 100 kg of mixture worth Rs.90/kg, given that the quntities of band c are equal
A. 70,15,15 
B. 50,25,25 
C. 60,20,20 
D. 40,30,30 
Ans. B

10. If all the 6 are replaced by 9, then the algebraic sum of all the numbers from 1 to 100 (both inclusive) varies by
Ans: 330

Directions for Questions 11-15 : Each question given below has a problem and two statements numbered I and II giving certain information. You have to decide if the information given in the statements are sufficient for answering the problem. Indicate your answer as
(a) if the data in statement I alone are sufficient to answer the question;
(b) if the data in statement II alone are sufficient to answer the question;
(c) if the data in either in I or II alone are sufficient to answer the question;
(d) if the data even in both the statements together are not sufficient to answer the question;
(e) if the data in both the statements together are needed; 

11. 
A) The boy regretted that he had spend a greater part of his vacation in the chair with a plastered leg.
B) With a plastered leg, the boy regretted that he had spent a greater part of his vacation in the chair
C) The boy regretted that a plastered leg he had spent a greater part of his vacation in the chair.
D) The boy with a plastered leg regretted that he had spent a greater part of his vacation in the chair.
Ans: C

12. 
A) If You will pay heed to the small details, the general plans will surely succeed.
B) If you pay heed to the small details, the general plans will surely succeed.
C) If you would heed the small details, the general plans would have succeed.
D) If you heeded to the small details, the general plans would surely succeed.
Ans: B

13. 
A) It is a pleasure to see an alligator basking in the sunshine on a river bank as long as 90 feet.
B) It is a pleasure to see an alligator as long as 90 feet basking in the sunshine on a river bank
C) It is a pleasure to see an alligator basking in the sunshine as long as 90 feet on a river bank
D) It is a pleasure to see an alligator basking as long as 90 feet in the sunshine on a river bank.
Ans: B

14. 
A) There will be a meeting in the long room at 4 o'clock of all the boys who play cricket and football.
B) There will be a meeting of all the boys who play cricket and football in the long room at 4 o'clock.
C) There will be in the long room at 4 o'clock a meeting of all the boys who play cricket and football
D) In the long room at 4 o'closk there will be a meeting of all the boys who play cricket and football. 
Ans: D

15. 
A) We had in this village, some twenty years ago, an idiot boy, whom I well remember, who from a child showed strong propensity for bees 
B) Some twenty years ago, we had an idiot boy in this village, who from a child showed strong propensity for bees, whom I well remember.
C) We had an idiot boy, whom I well remember, who from a child showed strong propensity for bees, in this village some twenty years ago.
D) In this village, we had an idiot boy some twenty years ago, who from a child showed strong propensity for bees, whom I well remember. 
Ans: A

Directions for Questions 16-20 :Convert the given binary numbers. 
16. (11111011)2= ( )8
Ans: (373)8

17. (11011110110010101101)2 = ( )16
Ans: (DECAD)16

18. ( 11010101)2 = ( )10
Ans: (213)10

19. (11100111)2 = ( )8
Ans: (347)8

20. (1100010101010010001)2 = ( )8
Ans: (1425221)8

Questions 21-25 : A cube painted red on two adjecent faces and black on the faces opposite to the red faces and green on the remaining faces is cut into sixty-four smaller cubes of equal size.

21. How many cubes are there which have no face painted ?
A) 0 B) 4 C) 8 D)6
Ans:C

22. How many cubes have only one face painted ?
A) 8 B) 16 C) 24 D)32
Ans:C

23. How many cubes have less than three faces painted ?
A) 80 B) 24 C) 28 D)48
Ans:D

24. How many cubes are there with three faces painted ?
A) 4 B) 8 C) 16 D)24
Ans:B

25. How many cubes have one face green and one of the adjacent faces black o red ?
A) 8 B) 16 C) 24 D)28
Ans:C

